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B2 FHUE{O| 1t HA|

- Tz By
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msl_‘-__’__—"‘]c”EE] ' e f [= =] [E=]res 5] 2 {
e o Ry ek 1 Xgl Con
: e T (1:DC24V, 2: GND)
' TE% U 2 Home Sensor Con
o [E5) FE}j k 7 ( 1:DC24V, 2:SEN , 3:GND )
3 I/0 Con
(1: DC24V, 2,3,4:Input , 5:0Out,
Al 6:GND)
g%ﬁ] 4,5 RS-485 Con
% (1:RS+, 2:RS-)
=1 6 AFE{ LED
L (M, Error, Run, Stop)
7 DIP Switch (3ZE0j|A MH)
(ID, Mode, Dir, ZTHAE)
8 Motor Con
(1:A, 2:/A,3:B, 4:/B)
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OFF
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OFF

OFF
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OFF

OFF

OFF

S/W 5

OFF

OFF

OFF
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OFF

OFF

OFF
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ON

ON
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4. A

|

LEES

MAIN ==> MB 1A CD (DATA) MB 1A CD ==> MAIN (ACK + DATA)
Data Number 0 1 2l 3 4 5 | 6 | 1 8 9 0 1 2 3 4 S (6l 7 8 g
TE STX | BOARD id | COMMAND type DATA ETX Check Sum STX | BOARDid | COMMAND STATUS DATA ETX Check Sum
owugoz g acz 33 001 o SE(0 ~2047) 0:01 &E(0~2047)
COW Yoz Yus 452 YH 002 |0 £E(0 ~2047) 0402 SC(0~2047)
0 (2 HR) ,
A7 0403 1 @4 3 0 0 0 0 003 0 0 0 0
0: ABS(HCH9/X))
9% 0l 004 ﬁ:ﬂ;:ﬂm 018 fRAD) 004 oY
clear § 0|§)
155 HE 4%) 4 HEU0 3D 0-31
2 (4% Bg 43 B BRU0 ~31) 031
347] 0|5 X 2H0~2047) 0~2047
4{0]EA £E) 0 F ${A12(0-2047) 0~2047
SOIEAN H4E) 0|F $%2H0~2047) 0~2047
DE & P2 4Y2 47| 0405 ozxzrf‘s;.l;lsi?) 0x05
(B2 4]) 0 0 0 Ax16), 548) 0 0 0 0-~8
60d),  7x2)
80d1)
7 (home £E) 0 ~2047 0 ~2047
100(successfully) ¥
LE4BRey | 0 | o 0 0 0 | 0 190 .
i :;Slfé 2t§ﬁ|jd% 91 0 0 0 0 o | (21351607 ik ;zs:z 1Wrong checksrum) |0 0 0 0 oge | 1120345464)
2 3EIE5) 0 0 0 0 BOKFF e 2(Invalid command) 0 0 0 0 B0KFF
” 0-32 4 (01EA 45) 0o [ o [ o 0 032 308rong type) o [ o] o 0
2 TE U8 42U 47| 0406 = 0x06 9 fype
S(O[EN 18E) | 0 0 0 0 dlinvald value) 0 0 0 0
(=) 0 0 0 0 0 0 0 0-~8
7 (home £5) 0 0 0 0 0 0 0 0
8 (#7 Position 2 0 0 0 0 20
2 0§ o7 |1 offset gt (2423) 0407 offset §} (2423)
1(26 78 48 0 0 0 0 0 0 0 f%ﬂ
A ol 0408 0x08 DH TN
2(26 § 4H) 0 0 0 0 0 0 0 L7183
2% 98
0: 9600, 1:19200,
Set Global Parameter 0:09 (LUEMNEE) 0 0 0 238400, 3:57600, 0x09 0 0 0 05
476800, 5115200
0: 9600, 1:19200,
Get Global Parameter 00A  |LENEE) 0 0 0 0 0408 0 0 0 | 238400, 357600,
476800, 5115200
OUTPUT 0«8 |10UTPUT) 0 0 j || TenkeekEES 0x08 0 0 0 01
1 QUTPUT ON
INPUT 00C | 1INPUT) 0 0 0 0 00C IR el Bttt




4.1 PC(Controller)0ii 4 MB-1A_CDZ ZLH= GI0IH (10 BYTE)

DATA 0 1 2 3 4 5 6 7 8 9
NO.
1= STX BOARD COMMA TYPE DATA4 DATA3 DATA2 DATA1 ETX CHECK SUM
ID ND
M OxAA DIP S/W 0x01 ~ OxEE (ID+COMMAND + TYPE
4,5,6,7,8 0x0C +DATA4+DATA3+DATA2
of| A +DATAL) & OxFF
R (STXQ} ETXE H|2|et &2
Hs = Hlo|HE L3t = 5t
1BYTEE =)
Ex) CW Htgfto 2 2550 = 2 B H 3|M™
PC = MB-1A_CD : OxAA 0x01 O0x01 O0x00 Ox00 O0Ox00 O0x00 OxFF OxEE 0x01
Check Sum
ETX
=L DATA
TYPE (0 ~ 2047)
COMMAND
ADDRESS

STX




4.2 HHEo| Ha|
1) STX (A|&F 2XP): OxAA
2) Board ID : MB-1A_CD2| DIP SW 4,5,6,7,80| Al MA&SH HS
ex) 4,5,6,7,8 2 5= OFF A| Board ID = 0x00
456,78 25 ON A| Board ID = Ox1F

3) Command®} Type : HZ0f

T& Command | type

CW gfgfo =z A™ot £ =2 RE 2|H™ 0x01 0

CCW gigfo = Q™o £ 2 DE 3™ 0x02 0

2 M| 0x03 0FAX]), 17teds 8X))

aSRNES 0x04 OCZLH?IX0]5), 1(E=Z%IX0]=5)

RE 15 R MY M) 0x05 LEAHR), 20X HR), 3(E7|4E), 40155 5),
5t %), 6(23H]), 7(-°.:7§.'0|%AE) 8(-r|IIZI)

2H s 2d 28 4 S| 0x06 I(EHHR), 28X HF 3(-’57|5—T—E), 40|55 ),
5t %), 6(23H]), 7('?J 10|55 ),
8(%I |2k

AW o] AlZ 0x07 1

DE TS AE| 9 A A 2l 0x08 LRE{ TS AE), 2A2E = AEY)

SiME: 4H 0x09 1

S £ =20l Ox0a 2

=3 X of Ox0b 1

ol 3} 0x0c 1




4) COMMAND 4 DATA H#<|

T2 Command | DATA (4BYTE)

CW gigfto = ™ol £ 2 RE 3™ 0x01 0~2047

CCW gigfo = Mot £ = DE 2™ 0x02 0~2047

S M| 0x03 0

?IXl 0l 0x04 2423

DH TE oE MY M) 0x05 0~31 (SHHF, FX|HF)
0~2047 (X7|&%E, 0|E¢5 7tZt%5, HOME & &)
0~8 (ZZH[)

RH 75 28 273 o 1 0x06 0)

Q™ O|= A|E 0x07 2723 (OFFSET Zf. |I™MA =0l = diCf Bfsto 2
ol ?IXI)
HIE 9| home sensor con?| SEN ZI0|| Low Al (0V)
Jb 3 HNtK| D 0| 5. Lowhl BT} QU B,
EE1 XX S Offset 7t 0= BIC) HIBtO 2 0%

2E 75 A I A A 2l 0x08 0

stlEE 2473 0x09 0~5
( 0 : 9600bps, 1:19200bps, 2:38400bps,

3:57600bps, 4:76800bps, 5:115200bps)

a4l & =0l Ox0a 0

=2 X of 0x0b 0: OUPUT OFF
1: OUPUT ON

A= =0l 0x0c 0




5) ETX (3= =X}): OxEE

6) Check Sum : STXQ} ETXZ H| Q|3 C|O|E{2 B 5 O3t & 59| 1BYTES ==

—

ex) TX DATA : OxAA 0x01 0Ox01 Ox00 Ox00 Ox00 OxO1 Ox55 OxEE Ox58

CheckSum= (0x01+0x01+0x00+0x00+0x00+0x01+0x55) & Oxff
= 0x58

4.3 MB-1A C/D0llA PCZ 2= UIOIH (10byte)

DATA 0 1 2 3 4 5 6 7 8 9
NO.
& STX BOARD ID | COMMA STATUS DATA4 DATA3 DATA2 DATA1 ETX CHECK SUM
ND
M 0xBB DIP S/W 0x01 ~ 100(succes PCO| A G|O|E{ WRITEA| = PCOA| ELH OxEE (ID+COMMAND +
4,5,6,7,80] | 0x0C sfully) HIO|EE Az A&, STATUS
A 1(Wrong PCO| A O|O|E{ READA|= Sl HIO|HE +DATA4+DATA3+DATA2
pske) checksrum) | M£. +DATA1) & OxFF
HS 2(Invalid (STXQt ETXE A 2|5t 2
command) = HOIHE 3t = 51
3(Wrong 1BYTEE =)
type)
4(Invalid
value)




4.4 STATUS : &

2= CIOIEOl CHEt & Ef &0l

T S El H| 2

0x01 Wrong checksrum CheckSum Error

0x02 Invalid command AF2SHA| e 0 QS A
0x03 Wrong type Zt Y 0{0f| Ciet typeO| O
0x04 Invalid value Data{} Error

0x64 successfully Mz HE2 [|O|g7F O A QIS

Ex) CW Hsto 2 1000 £ 2 TE 3|Mstat=

PP = PCOA

gtotS [ MB-1A CD29| Return Data

PC = MB-1A_CD : OxAA 0x01 O0x01 O0x00 Ox00 Ox00 0x00 OxFF OxEE 0x01

MB-1A_CD = PC: OxBB 0x01 0x01 Ox64 O0x00 Ox00 Ox00 OxFF OxEE Ox65

STX

ADDRESS

Status

Command

)

Check Sum

PCO| A 2+ §|O|E} ETX




5. 2E & 3 B8R HF ME 2ol thieh 24 28 HF U
HEMT & HFA) HE ME & HFA)
0 0.00 16 1.05
1 0.12 17 1.10
2 0.18 18 1.15
3 0.25 19 1.20
4 0.31 20 1.25
5 0.37 21 1.30
6 0.43 22 1.35
7 0.49 23 1.40
8 0.55 24 1.45
9 0.62 25 1.50
10 0.68 26 1.55
11 0.74 27 1.60
12 0.80 28 1.65
13 0.86 29 1.70
14 0.92 30 1.75
15 1.00 31 1.80




